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eTOC Dual Method Question in partl

7o complete each item, choose the best word or phrase from and among the four choices, then
on then answer sheet, find the number of the question and mart your answer.

For eTOC Teachers: 1.Please have the students read the sentences one at a time

2.and correct their pronunciation of each sentence then have them repeat after you.

3.Wait to have the students choose the correct answer to fill in the blank then read once again.

Gradel Daimon1 Question(19)-(21) in part1 2017-1i2ag

(19) The company’s decision to reduce paid vacation days for staff led to
much ( ). Employees were extremely angry that they
had not been consulted.

1 matrimony 2 acrimony 3 feasibility 4 alacrity

(20) A: What did you think of the art exhibition?
B: it was too ( ) for me. All those images of disease and
death made me feel depressed.

1 morbid 2 gullible 3 circumspect 4 symmetrical

(21) Just as Sergio settled down to study, he was disturbed by a
( ) outside. He looked out of his window and saw a
group of men arguing loudly.

1 stigma 2 commotion 3 vestige 4 periphery

*Skip to the Further Questions, for this part, Student can check the answer and Japanese meaning
(19) The company’s decision to reduce paid vacation days for staff led to
much (2 acrimony). Employees were extremely angry that they had not
been consulted.itE o HREEEBIKT 2 & 05 iHkoiiEiE, JEFcEdizboTclz, fEERE
B 2o 72D TIEFFIC R > T Lz,

1 matrimony #f%5, kil (7 2 acrimony &4, LA 5o X

3 feasibility ==/ = 2 = & wraeit 4 alacrity i, At

Further Questions(19) *Ask student to answer the question on their own at first. If the

student can’t answer correctly, have him look at and read the “sample answer” for the question. Have
the student try to memorize the sample answer, if it’s too long or difficult, you should divide the
sentence into 2 or 3 parts to make it easier to remember. Once they have memorized the answer, the
teacher should ask the question one last time so that the student can practice answering.

(19) A. Please use the word “matrimony” in a sentence.

Sample answer: He was quickly finding that matrimony wasn't all that he has been promised.
(19) B. Please use the word “feasibility” in a sentence.

Sample answer-: The board met to consider the feasibility of the new marketing plan.

(19) C. Please talk something on your opinion about this.

(19) D. B IMEFEL R > =D TIEHICK>TWE L,

*WEETH 2 CAE L X 9 * Try to translate this part into English without looking at the English text.

Answer: Employees were extremely angry that they had not been consulted.
*L oy A VIRIC Answer % R W CHEETEWTA X H | Write the answer after the lesson
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*Skip to the Further Questions, for this part, Student can check the answer and Japanese
(20) A: What did you think of the art exhibition? = oz &5 B L2
B: It was too (1 morbid) for me. All those images of disease and death
made me feel depressed.
ZNEFFACIE D E VICHRNTE o072, IR LILDTRTDA A=Y 3 EFEHIAATZLRTICIE T,
1 morbid 7 i 2 gullible 77
3 circumspect {7 4 symmetrical 5o, > 2 F ) w2

Further Questions(20)

(20) A. Please use the word “gullible” in a sentence.
Sample answer: She is very gullible, and you can get her to do just about anything by making up a
good story.

(20) B. Please use the word “symmetrical” in a sentence.
Sample answer: Although squares and circles are always symmetrical, triangles aren't.

(20) C. Please talk something on your opinion about this.

(200 D. £ RSB E VIS BIKIME 572, A LD T RTDA A=V 3%
BHIAATZRTIC I Tz,

*WEETH o CA X L X 9 * Try to translate this part into English without looking at the English text.

Answer: It was too morbid for me. All those images of disease and death made me feel depressed.
*L oy A VIRIC Answer % R 72 W THREETHEWTA X 9 | Write the answer after the lesson

*Skip to the Further Questions, for this part, Student can check the answer and Japanese meaning
(21) Just as Sergio settled down to study, he was disturbed by a
(2 commotion) outside. He looked out of his window and saw a group of
men arguing loudly. =42 2 -0 0% b 0 Lol SROBEE ICIRE S E L, 1k
WO ERE L, ZLTCRETHEMI 2BH IV -T2 /lRE L,

1 stigma %% 2 commotion = 3 vestige Jiii 5% 4 periphery JHiv il

Further Questions(21)

(21) A. Please use the word “stigma” in a sentence.

Sample answer: Having dark skin in America has traditionally been a stigma and to this day
it contributes to inequality.

(21) B. Please use the word “vestige” in a sentence.

Sample answer: Japan still has many ancient buildings and monuments that are vestiges of
an earlier age.

(21) C. Please talk something on your opinion about this.

(21) D. e A VAWM T 2720 ICEBEHE VLA, WA OBREICHEINE L,

*WEETH o CAE L X 9 * Try to translate this part into English without looking at the English text.
Answer: Just as Sergio settled down to study, he was disturbed by a commotion outside.
*L oy A VIRIC Answer & R 72 WTCTHREETHEWTA X 5 | Write the answer after the lesson
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